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* circles denote travel of individual arms and the total combined reach

* preliminary length of inner arm = 1500mm
* preliminary length of centre arm = 1370mm
* preliminary distance from outer arm hinge centre to outside of loser ball = 130mm
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25 IR

PAW [ F': /home/chensm/examples/paw
FE

>paw <return>

PAW>exec readin <return>

root H J7': /Thome/chensm/examples/root
BN

>root —b —q readin.C+ <return>

>root <return>

Root>TFile f(“run_615026.root”) <return>
Root> h10->Draw(); <return>

FFFortran

HFCHr

PE I R T4, W1E
WINDOWS FILINUXI S

—

TiE1T




PAW Sroot iy —4EH HFRE 4 S K
T I EAN—4EH 5K

Call hbook (&2 “F5 i [ [7%, T I, 1-FR.0) \
> PAWH -
Call hfill(E 5 ,x,0,1) |

THIF *[&] 2 = new THLF(“[& =7 <k i~ 5 i %, R, BB |

- rootH]
K5 ->Fill(x);

FHIFEN 4 EH T HE
Call hbook2([&] = 47 507 XX [k, F WE, - FR, y X /726, F 2. 1-JE.0)

Call hfill(E 5, x,y,1)
TH2F *[&*5 = new TH2F(“[E 57, “brdil” xIX [0 5%, N BR, bR,y X/ 24, IR, - 1R):;

5 ->Fill(x,y);



PAW 5root B8+ —LfF HEK 84
1] — 4 pR N Hh 2%

PAW>funl 100 sin(x) 100 0. 3.14; h/pl 100

Root> TF1 *funl=new TF1(*funl”,”sin(x)”,0,3.14); funl.Draw();

] 4 PR 5 T

PAW>funl 100 sin(x)*sin(y) 100 0. 3.14 100 0. 3.14; h/pl 100 surf4

Root> TF2 *fun2=new TF2(*“fun2”,”sin(x)*sin(y)”,0,3.14,0,3.14); fun2.Draw(*“surf4”);

I A BRI A SR A 2
PAW>h/fil 1 test.nbook; h/lis 1;

Root> TFile *hfile=new TFile(*test.root”); hfile.Is();
g PR I 1 e A ] P

PAW>h/pl id1; h/pl id2 s

Root> id1.Draw(); 1d2.Draw(*“same”);

M, Baad. s Iial, sl e R B & H T 1#
PAW>h/f|t id g; h/fit id e; h/fit id 2p; h/fit id myfun.f ! 3 par

Root>id.Fit(“gaus”); id.Fit(“exp”); id.Fit(*myfun.c”);

R BT B AH D aleAH

PAW>h/op/add 1d1 id2 id3; h/pl id3; h/op/div 1d1 1d2 id3; h/pl id3

Root> TH1F *id3=new TH1F(*id1); id3.Sumw?2(); id3.Add(id1,id2,1,1); id3.Draw();
Root> TH1F *id3=new TH1F(*id1); id3.Divide(id1,id2,1,1); id2.Draw();
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MR B 25 I 2 /home/chensm/data/run_615531.dat, 1E i

gihttp://hep.tsinghua.edu.cn/~chensm/training/data/run_615531.dat

1. AFHHEOCERAE Ly, A B 6 A& 1) [RIPE B A, Al Tt
AR EG R — BB G AR R % B R DG AR, A H A
BRI S S B 28 &R A B (P, B> 01y
e HWOE O CER & H)

2. A FE A G I N, 9625016 O G ER B AH T
FOLAEF 88 i FH VIR 6], R LA 31 IR TR0 55 ) A 22 At 1 R A
Al — B A BE B At AT I I TR TV Z R
TR ORIV L (RS DI S Wik E b 2N E S (B

VIR, J7 I OME SO AR B S S IS R AT A

3. FESEPRSEIG R, O R G N TR) I R L P A G
FHH AR RGEEHE AL — FOCHAE, 5l 1E
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FERIT 5T FEL AR 398 5 0T I TR0 ) 0 R e, AT 2 B A S B A
I YIS E] oA B R R A TS, NI 3k S 15 A7 AE 5 I [A)
s B e R R

WYSIF
WO ERAE AR I+ 94(0,0,0);

6 LA B8 5 IS 18] 43 38 -5 HE e KNI R 2R (Q, Sigma_t) (ML/home/
chensm/resolution/pmt_sig.dat &Y,
training/resolution/pmt_sig.dat);

75— S P 90 5 R 00 5 ) 2
At=t—L/v,,; L=4(x=0)%+(y—0)2+(z—-0)?;
Vo = 21.66JF K 41D



http://hep.tsinghua.edu.cn/~chensm/training/geom/geom.dat
http://hep.tsinghua.edu.cn/~chensm/training/geom/geom.dat
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http://hep.tsinghua.edu.cn/~chensm/training/data/
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75 $d /home/chensm/data/run_615082.dat 1

run_615082.dat, — 3L -3 E] . ARIFHADRGL T, AR08
FOL 3 B8 B N IS TE] PR &, ZEFNBR RATI IR LA, I TRl o ZE AR
MIMEZEWN), AR ZE Ao Q) A, FIERIIRKE. LUOBIRIAL
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CUR, g DGR AL B A THE
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(IEP R G

CVRHE THEAF AFME FOF 5, M S 45 RS 5 21

d) 4% ISR 1 DR IR 5 ¥R R N ) 22 I 05 Rk T 2. S AR 11 “ AN B0
M T Kot BEATIEAR. S AR ORISR, WA AR O
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